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To what extent is there a working separation of powers (checks and balances)?

This question refers to the basic configuration and operation of the separation of
powers (institutional differentiation, division of labor according to functions and,
most significantly, checks and balances). However, it does not refer to the
tendency toward convergence and a fusion of powers that can be observed in
parliamentary systems. It does include the subjection of state power to the law.

There are no constraints on the basic functions involved in the separation
of powers, especially mutual checks and balances.

The separation of powers ist restricted partially and temporarily (e.g., to
ensure governability). Fundamentally, though, a restoration of balance is
sought, especially by the other branches.

One branch, generally the executive, has an ongoing and either informally
or formally confirmed monopoly on power, which may include
the colonization of other powers even though they are institutionally
differentiated.

The separation of powers is nonexistent or exists only on paper.

3 Criterion: Rule of Law
State powers check and balance one another and ensure civil rights.

3.1 Separation
of powers
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